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I 7xmwn: status of noa (slaughtered Mmw5 ®YW) during the morning of the 14
a  yw " valid (as Dndw), just as if it were the 13™
b nPnaja:invalid, just as if it were slaughtered in the afternoon (yanr)
¢ Addendum: Rty 11 testified from 72 elders on the day that y"ary was invested as 1"17mv R that:
i All: eaten n'nar (i.e. not n%1) slaughtered 1nw5 85w are valid but don’t count for owners, except for nxon noa
1  Note: he only extended p”n’s position by adding 0%y — but n'non didn’t accept his testimony
2 Note: he mentioned “72 elders” because testimony was unanimous
II  Analysis:
a  RYWVIR 7 nna 2 holds that a noa brought in the morning of the 14% is fully proper
i And:the wording “as if he brought it in the afternoon” is meant to respond to Y1 '7’s “as if (it was the 13th)”
ii ~ Challenge: let them disagree about this fundamental issue — whether the 14 in the morning is a valid time
iii Answer: if they disagreed there, X"10 that ywv1n’ "1 agrees that if brought then 1nw% 89w — 9109; part of the day is fit
1 Challenge: v. 1 stipulates that noa 117p be offered n>a7n pa (which we assume means in the afternoon)
(@) Defense: ma7yn pa may mean “from evening until evening” (24 hours)
(b) Challenge: based on this, the 2n daily 7nn could be brought at any time! (v. 2)
(i) Defense: since v. 2 also commands a 7nn in the morning = 0’270 72 there must mean “afternoon”
(if) Challenge: perhaps in that case, one is in the morning, and the other can be at any time?
1. Answer: 7paa TR implies — only one in the morning
(c) Challenge: the nmn, in that case, should be valid to be lit at any time (v. 3)
(i) Defense: v. 4 indicates 7pa Ty 2990 > must be lit at end of day, as per 2 mwiTon v. 4
(d) Challenge: the nmyop should then be able to be lit at any time (v. 3)
(i) Answer: nmop is compared, by analogy (v. 3) to mm
(e) Challenge: same phrase appears in re: noa (v. 5) — 191 noan PR Nam oY
(i) Answer: that is used to set its place in sequence — after n’a7yn 11 5 Tnn (270 Pat+aiva after y”na)
(f) Challenge: how could something 9v3 in the morning be guided by principle of 927 9’ (it’s latest)
(i) Answer: as per 3nY "1’s ruling about nmn preceding qoin if the 01 of both arrives
(g) Challenge: why then does the N1 n use ©2a7yn pa for M nNMYP?
(h) And:»27's answer on behalf of 19'na 12 — none of 13t is “fit”; but part of 14" (afternoon) is fit
(i) But:if ®ywir 1 were right, he should have argued that the entire day of 14% is fit; rather...
b pny 7 nna 12 would invalidate any noa j27p offered in morning of 14™; 1w or not 1YWY, since part of the day is “fit”
i 1naR "7 rejected this: in that case, according to n1'na 13, there is no way to ever have a 7w3 noa
1  If he designates the noa in the morning, it's currently nnT (cannot be brought as any 131p) — R9p*Yyn "nT W
2 And if: he designated it beforehand, it is nnT X7 — which cannot be nX71 91N
3 Answer (77ax *): if he designated it during the jnr (in the afternoon) — it would be valid
(a) Extension (7an): even if 9p11 w90, we do not consider a time-lag during the same day to be jnr 9010
(b) Extension (9”): even if he designated the night before, time-lag from then is not jnr Yo1NN
(i) Per: rulings of Y8ynw 1 and VAR " re: N2 TWYN on 7% night/8t day (v. 6)
ii 173N 775 871 77 shall we say that 130y "1 holds that pnT) n»n ’5va (i.e. an animal can be nnT1 while alive)
1 Answer: yes, per his ruling — a coowned animal which one %2-owner was w»7pn, who then bought the other
and was v»1pn the second half is fully w11p but cannot be brought, can generate a n7nn, which is like it
(a) Implications:
(i) o’nm o0 25Yx there is 07 for a live animal
(ii) 277 M &7p2vo 2T if unfit from the beginning, this is considered »n7
(iii) p’m72 7107 % even though it never had 9un nwiTp, "7 still applies
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iii 2 rulings of 1a3m» "7 relating to "n7
1 If: he ate 250, was nkon wan, became an apostate, returned — cannot bring 129p; as it was nnm
2 If he ate 290, was nron vMan, became an imbecile, recovered — cannot bring 117p; as it was nnm
(a) Justification:
(i) If: we only had first case, 8”10 invalid since he was nnT by volition
1. But: in 27 case (701w) where his “pushing away” 129p was involuntary, 8”10 it would be nx71
(ii) And if: we only had 2nd case, 8”10 since he doesn’t control his own naywn —
1. But: in 1%t case (1mn), where his pushing away j129p was under his control — X"70 it would be nx
3 Question (772077 77): if he ate 29N, designated a 127p, then %170 772 ruled that 29N was permitted, then they re-
tracted the ruling — is his j29p considered nnT1 nNR1?
(a) Answer: 13m "1 used to begin his discussions of 117 with this case — and it is certainly nnm
(i) Reason: in other cases (N0 ,3mn), only the man was nnm; here, both the man and 129p were nnm
III  Analysis of 'xty j2’s addition (of n%p) to list
a  Source:v.7 — R nny
i Challenge: in re: DWR, also states X0 DWR
ii  Answer: that is written in re: after 1R nVpPn
1  Block: v.7 is also after P71 nivpn
2 Answer: there are two occasions of R0 in re: N9y
(a) Retort: there are two occasions of ®’n in re: DWNR, rather...
b Source (82177 77): used Vp —
i If: nron, which is not 'n% 93, is invalid if slaughtered nnw5 RX>v
ii  Then: certainly n%w, which is 'n% %53, should be 04 if 1nw5 85w nan
1 Challenge: nkon achieves atonement
(a) Response: noa disproves that correlation
2 Challenge: noa is unique in that it has a set time
(a) Response: nron disproves that correlation
3 Common denominator: they are mw7p and if slaughtered jnw5 85w, invalid
(a) Application:ny is also nwp > if slaughtered 1mw5 R5w, should be invalid
(i) Block: there is an exclusive common denominator — both nxvon and noa have a n13-connection
(ii) Defense: vty 12 doesn’t see that as significant
(b) Question: based on this mwn 7%, why doesn’t *xty 11 include nwx as well?
(i) Answer:he has a different n1ywn 7% which excludes DwR — both nxvm noa are/can be Max 127p
(if) Or: he really does accept n13 7% as a 1mm Yp-breaker, has 0%y as a tradition
1. And: ®nn "7, who presented the ', was only testing the students
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